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Consider the following reaction coordinate illustrating the reaction of 2-methyl-2-butene with HBr. 

Draw the structures of transition state (X) and intermediate (Y), and choose the correct statement below. Do NOT bubble in your choice.
Circle the letter provided on the fill-in portion of your scantron. (10 pts)

The transition state will resemble:

1. The starting material and intermediate equally

2. The starting material more than the intermediate

3. The intermediate more than the starting material

4. The final product most
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